

#### NOTICE TO CONDUCT REPEAT ORDER

The Department of Agriculture Regional Office No.5 through BAC Resolution No. 2705-1630 is conducting a Repeat order for the Procurement of Assorted Garden Tools under Quick Response Fund (QRF) 2021 that was awarded to GMG AGRI FARM PRODUCTS with office Address at #542 Brgy. Bilog-Bilog, Tanauan City, Batangas. The Contract Agreement between The Department of Agriculture Regional Office No. 5 and GMG AGRI FARM PRODUCTS was executed on August 27, 2021, the Notice to Proceed (NTP) was made on September 06, 2021; The original amount of the contract was Seven Million Five Hundred Sixty Thousand Pesos (Php12,237,000.00).

### The Repeat Order shall be:

ITEM	DESCRIPTION	QTY	UNIT PRICE	TOTAL PRICE	DELIVERY
NO.					SCHEDULE
1	Hoe -Heavy Duty. 6.5'	700 pcs.	599.00/pc	419,300.00	30 c.d upon receipt of NTP
	wide x 7.5" deep				
	Ideal for heavy				
	cultivation, verge				
	control, edging				
	and banking work.				
	-Digging or				
	trenching hoe				
	Rake	700 pcs.	349.00/pc	244,300.00	
	-Heavy Duty.				
	Metal Handle with				
	rubber tip. Steel				
	material with 16				
	teeth				
	Shovel	700 pcs.	499.00/pc	349,300.00	
	-Heavy Duty.				
	Tempered proof.				
	Offers the best				
	quality and assures				
	a better job				
	Handle Material:				
	wooden covered				
	with steel. Spade				
	type.				
	Sprinkler	700 pcs	299.00/pc	209,300.00	
	Durable, 10 liters				
	capacity				
	Bolo	250 pcs	699.00/pc	174,750.00	1
	-Durable, blade is	·			
	1/4"thick and				
	made of steel with				
	a black texture				
	powedered coat.				
	15" Length				



## Republic of the Philippines DEPARTMENT OF AGRICULTURE

Regional Field Office No.5 San Agustin, Pili, Camarines Sur, 4418 http://bicol.da.gov.ph

Hand trowel - Plastic and heavy duty with pointy edge	250 pcs	99.00/pc	24,750.00	
Plastic Mulch - Black and Silver, 1.2m x .03mm x 400m	162 rolls	2,499.00/roll	404,838.00	
Water Plastic Drum -Durable plastic material, 200 L capacity	89 pcs	1,499.00/pc	133,411.00	
			<b>₱</b> 2,059,699.00	

Sealed bid must be received by BAC Secretariat not later than 10:00 in the morning of January 05, 2022 at DA RFO-V, San Agustin, Pili, Camarines Sur. Opening of proposal will be on the same date and time. All submitted documents must be in duplicate, marked with index/ear tabs or sideend tabs to identify the page components, and addressed to the BAC Chairperson; otherwise, bids will be automatically rejected on the ground of non-compliance with the prescribed bid requirements.

The repeat order for the previous contract shall be governed by the RA 9184 and its Implementing rules and Regulations.

The Department of Agriculture, Region 5 shall in no case be held responsible or liable for any and all costs associated in the implementation of the Repeat Order of its result

**LUZ R. MARCELINO**RTD for Operations
BAC Chairman



# Republic of the Lhilippines DELARTMENT OF AGRICULTURE Regional Field Unit No. 5 San Agustin, Lili, Gamarines Sur

# BID FORM (GOODS)

DEPARTMENT OF AGRICULTURE Regional Field Unit No. 5 San Agustin, Pili, Camarines Sur

The Bids and Awards Committee
Gentlemen/ Ladies:
Having examined the bidding documents, the receipts of which is hereby duly acknowledge we the undersigned offer to supply/ deliver the goods requisitioned in conformity with the said bid documents for the total amount of
P)
Accompanying this Bid Form is our Bid Offer containing the details of the requisition and our offered items is specified quantity and unit price.
We undertake, if our Bid is duly accepted, to deliver the goods in accordance with the delivery schedule specified in the Schedule of Requirements.
We agree to abide by our Bid for the Bid validity period as set by the procuring entity but not exceeding one hundred twenty (120) calendar days from the date of the bids opening.
Until a formal contract is prepared and executed, this bid, together with your acceptance thereof thru Notice of Award, subject to all other Bid documents, shall be binding upon us.
We understand that you are not bound to accept the lowest of any Bid that you may receive.
We certify that we complied with the eligibility requirements as specified under RA 9184 and its IRR and the Bidding documents.
Dated this day of 2021.



## Republic of the Philippines DEPARTMENT OF AGRICULTURE

Regional Field Office No.5 San Agustin, Pili, Camarines Sur, 4418 http://bicol.da.gov.ph